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Question Number : 1 Question Id : 2062051265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In how many parts is an email address divided?
Options:

. w Single part

5 of Two parts

5 % Five parts

4 % Four parts

Question Number : 1 Question Id : 2062051265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 2062051266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a relevant command in MS Excel?

Options:
| % Merge & Centre

o % Wrap Text

3 « Slide show

4 ®% Auto Sum

Question Number : 2 Question Id : 2062051266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 2062051267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The option in the File (or office button) menu is used to close an MS-Word 2007 document.

Options:

> o Close
z % Exit

4 % New

Question Number : 3 Question Id : 2062051267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 4 Question Id : 2062051268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The memory is a volatile memory and allows both read and write operations.

Options:



; ®* ROM
e BRAM
5 % EPROM

4 % RAID

Question Number : 4 Question Id : 2062051268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, % ROM
- v RAM
- » EPROM

. % RAID

Question Number : 5 Question Id : 2062051269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A uses a non-impact photocopier technology.

Options:

| « Laser printer

-~ % Drum printer

- % Inkjet printer

4 % Dot Matrix printer

Question Number : 5 Question Id : 2062051269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 2062051270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following best describes a plotter?

Options:
, w Aninputdevice to produce good quality graphics.

-  Anoutput device to produce drawings and graphics.

- % A fast output device using camera lenses.

4 % Aninput device for drawing graphics.

Question Number : 6 Question Id : 2062051270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
@ # ¥ #0T U o] &1 g9 J=oT 9uTd il &7

Options:

=0T 0T dTel AMherd oo i & Tord Teh $oAYC Sa3H |

1. %

, o T AR ihE T % fordy v Hsee fEarew
5 CPET TH T SIS Y ATl Tk A1 HIITYE Farew

i T T & oIl TeF $a9e Barsy

Question Number : 7 Question Id : 2062051271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT a necessary step to perform mail-merge feature of the MS-Word?
Options:

, = Open anew document in word and start the mail merge procedure.



- % Link the document to a data source.

3 o Perform spell-check on both document and data source.

4 % Preview and print the form letters.

Question Number : 7 Question Id : 2062051271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 2062051272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following is NOT a valid “view™ option in Microsoft Power Point 20077
Options:

1 # Slide sorter view

®

Slide master view

ra
B

5 « Slide show view

&,

Normal view

o
®

Question Number : 8 Question Id : 2062051272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 9 Question Id : 2062051273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a search engine?

Options:
1 % Macromedia flash

-  Google
5 % Netscape

4 ® Chrome

Question Number : 9 Question Id : 2062051273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 10 Question Id : 2062051274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To host a website, space has to be bought from which of the following?

Options:
1 % NASA

> % Microsoft



5  Web hosting companies

4 ® W3C

Question Number : 10 Question Id : 2062051274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 2062051275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
DNS is the abbreviation of :

Options:
, % Dynamic Naming System

> % Dynamic Network System

5 Domain Name System

4 % Domain Network Service

Question Number : 11 Question Id : 2062051275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 2062051276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT hardware?

Options:
1 8 CP1J

> # Plotter
= ¥ RAM

4  Virtual memory

Question Number : 12 Question Id : 2062051276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

FrATET T T 47 gr=aa% el 87
Options:

g

1 ® &,
2. Celle
z ® i?:r

P TYHA HART

Question Number : 13 Question Id : 2062051277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ASCII stands for:

Options:

, w American Scientific Code for Information Interchange

-~ % American Scientific Code for International Interchange

- % American Standard Code for Intelligence Interchange

4  American Standard Code for Information Interchange



Question Number : 13 Question Id : 2062051277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 2062051278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the correct sequence of steps to start Microsoft PowerPoint in Windows 77

Options:
| « Start, All Programs, My Office. MS PowerPoint

5 % Start, My Documents, MS PowerPoint 2010
5 » Start, My Computer, MS PowerPoint 2010

4 = Start, All Programs, MS Word, MS PowerPoint

Question Number : 14 Question Id : 2062051278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 2062051279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The protocol used to access webpages is:

Options:
; % FTP

5 « HTTP
o W W3iC

4 % ICMP

Question Number : 15 Question Id : 2062051279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, = FTP

>« HTTP
- x W3C

. % ICMP

Question Number : 16 Question Id : 2062051280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Hardware device used to feed words, sounds, images, etc. into & form that the CPLT can process is known as
Options:

1 # Device driver

> # Device reader
-  Dput device

4 % Output device

Question Number : 16 Question Id : 2062051280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 17 Question Id : 2062051281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the process through which users get an error message when the computer system encounters an error?

Options:
| % Memory management

> % Buffer loader
5 « Error handling

4, % Process management

Question Number : 17 Question Id : 2062051281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 2062051282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Of the following, 1s NOT an email service provider.

Options:



, w» Hotmail

> % Gmail

5  Bing

4 # Yahoo mail

Question Number : 18 Question Id : 2062051282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 2062051283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Bank’s ATM facility is an example of :

Options:
1 % LAN

5  WAN
s ® MAN

4 % Personal Area Network

Question Number : 19 Question Id : 2062051283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 20 Question Id : 2062051284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hierarchical Wetwork follows

Options:

; « Iree Topology

- % Hybrid Topology

- » Mesh Topology

4 » Bus Topology

Question Number : 20 Question Id : 2062051284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 21 Question Id : 2062051285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which among the following is the fastest printer?
Options:

; w Dot-Matrix printer

> % Thermal printer



- % Inkjet printer

4 « Laser printer

Question Number : 21 Question Id : 2062051285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 2062051286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pressing the delete key deletes the text:

Options:
, « Tothe right of the insertion point

> % 1o the left of the insertion point

5 % 1o both sides of the insertion point

4 # Ofthe entire sentence

Question Number : 22 Question Id : 2062051286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 2062051287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To create a rable in MS Word, user has to do this:
1. Position the insertion point where user wanls o nsert the table.
2. Click on tab, then in the group, click the  down arrow and click the option. The
Insert Table dialog box appears.
1. Enter the desired mimber ot rows and columns as required in the table.
4. Click OK.
Options:
|  Insert, Tables, Table, Insert Table

5 % Insert, Tables, Insert, Insert Table
- % Home, Tables, Table, Insert Table

4 % Home, Tables, Insert, Insert Table

Question Number : 23 Question Id : 2062051287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 2062051288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the type of disk in which content, once recorded, CANNOT be modified or erased by user?



Options:
, ® Write only

>  Read-only

- » Run-only

4 » Readand Write only

Question Number : 24 Question Id : 2062051288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 25 Question Id : 2062051289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
With respect to database, each combination of a telephone number, birth date and customer pame is an example of a;

Options:
1 « Record

5 % Sequence
z % File

4 % Database

Question Number : 25 Question Id : 2062051289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 2062051290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The version of computer programs written in high-level programming language, that is readable by
human beings. is called:
Options:

, w Binary code

> % Instruction set
5 « Source code

4 % Executable code

Question Number : 26 Question Id : 2062051290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 27 Question Id : 2062051291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Identifying and correcting errors in a program is called

Options:



, » Compiling

-  Debugging
- % Grinding

4 % lnterpreting

Question Number : 27 Question Id : 2062051291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 28 Question Id : 2062051292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The first-ever computer-to-computer link was established on

Options:
1 % Inet

~ % NSF net
=  Arpanet

4 % Vnet

Question Number : 28 Question Id : 2062051292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TET FEYE-T-HEYE (o 9T TR foRar 7 |

Options:

1%'?2-



. » NSF 2

4 #® VéE

Question Number : 29 Question Id : 2062051293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following software is used to create text-based documents?

Options:
, % DBMS

> % Suites

5 % Spreadsheets

4  Word processor

Question Number : 29 Question Id : 2062051293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 30 Question Id : 2062051294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A small arrow or blinking symbol, i.e., a movable indicator on desktop, is called a:
Options:

1 ® Mouse

5 % LOgo



- % Hand

4 « Cursor

Question Number : 30 Question Id : 2062051294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 31 Question Id : 2062051295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an icon on the desktop that provides a user with immediate access to a program or file?

Options:
1 # Kernel

> % Buffer
= « Shortcut

4 % Spooler

Question Number : 31 Question Id : 2062051295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TFATo T 5§ FOT STl T 3910YA U5 H15aa & =i Tah Tt il (50T W I WISe o [ord delel THFad
2T AT £
Options:

1_&5%3[
zaﬁm

5 v Sliehe



4 #® "L

Question Number : 32 Question Id : 2062051296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the letter and number of the intersecting column and row in MS-Excel known as?

Options:
1 ® Cell location

> % Cell position
% « Cell address

4 # Cell coordinates

Question Number : 32 Question Id : 2062051296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 2062051297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A collection of attributes that describes a real-world entity is called

Options:
1 % Information

> % Input

= « Record

4 % Database system



Question Number : 33 Question Id : 2062051297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 2062051298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following are shown on the status bar of the MS-Word document window?

Options:
; w» Name of the document, insert button, spell check.

- w Number of spellings errors, page number. document name.

- u Size of the margins, word count, web layout.

4  Number of pages in the document, word count, spelling/grammar check.

Question Number : 34 Question Id : 2062051298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 2062051299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT related to MS-Word?

Options:
1 % Table

« Drop Cap
= « Worksheet

» Mail-merge

Question Number : 35 Question Id : 2062051299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 2062051300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the number of rows in a worksheet of the newer versions of MS-Excel?
Options:

1 % 36500

> « 1048576
5 % 64536

4 % 256

Question Number : 36 Question Id : 2062051300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:



. % 36500
- » 1048576
- » 64536

L % 256

Question Number : 37 Question Id : 2062051301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements about mouse speed is correct?

Options:
, w Adjustable through right click

» % Not adjustable
-  Adjustable through control panel

4 % Adjustable through left click

Question Number : 37 Question Id : 2062051301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AR T R A T FAT ABE H A F I T T

Options:

|« oM e F AegH ¥ gAY g

, « TATAST 7T 2
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, « I e & AT ¥ §AEST g

Question Number : 38 Question Id : 2062051302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT an image file format?
Options:

i ow gt



o % -bmp

3 « .cdc

4 % Mff

Question Number : 38 Question Id : 2062051302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
el # O 731 v 53 B BiHT ot 27

Options:

; = -gif

> % -bmp
3 « .cdc

Question Number : 39 Question Id : 2062051303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To expand a selection of text, click anywhere on the sentence while holding down the following key:

Options:
1 « Shift

> % Cirl
o R Alt

4 ® Esc

Question Number : 39 Question Id : 2062051303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TR F R A e F R G A et e e s s w s A e
oFd 87

Options:

.« Shift

o ® Cirl



4 % Esc

Question Number : 40 Question Id : 2062051304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

You want to copy a file slightly larger than the size of free space available in your pen drive. In such a scenano, identify
thee wtality that will best suit your purpose, from the given options.
Options:

; w Change the file extension

-~ % Clean your desktop

5  Compress your file

4 » Uninstall all programs

Question Number : 40 Question Id : 2062051304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HIT N9 U ¥EY H 39eey UEE TYE ¥ wEw # goen F o w8 wEe S e 9 £ v
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Options:
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Question Number : 41 Question Id : 2062051305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Converting source code into object code is called:

Options:
, « Compiling

5 % Debugging



5 » Grinding

4 » Executing

Question Number : 41 Question Id : 2062051305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T (W) 1S H 3fesiae (3227) H1s F afafda s FEoT g

Options:

1.#5“5“

Question Number : 42 Question Id : 2062051306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
converts computer output into a form that can be transmitted over a telephone line.

Options:
, = Teleport

> % Multiplexer

= % Concentrator

4 « Modem

Question Number : 42 Question Id : 2062051306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FFYE HTBTIE F1 38 FET H TRafcid el ¢ ToTH Soldled oSt 9 FHINS [T ST Hehell g
Options:
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4 o FAIBH

Question Number : 43 Question Id : 2062051307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Windows systems, which of the following key combinations can be used to print a document?

Options:
1 % Shift+P

> of Ctrl +P
= Alt+P

4 % Cirl + Alt+P

Question Number : 43 Question Id : 2062051307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

s forew 7. Tea A 0 59 o0 goea 1w e segeve = e F s e e e
T g

Options:

. % Shift + P
, v Ctrl + P
2% Alt + P

L% Ctl + Alt + P

Question Number : 44 Question Id : 2062051308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The number of layers in the ISO-OSI reference model is:
Options:

1 ® 4

L

> B

Question Number : 44 Question Id : 2062051308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
ISO-0S| FegsT AlSeT H T & dE&ar 2|

Options:

L% 4

Question Number : 45 Question Id : 2062051309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a NOT a networking device?

Options:
1 % Router

> % DBridge
5 o Virtual memory

4 ® Switch

Question Number : 45 Question Id : 2062051309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT d T 77 vF Al Baeg a8 22
Options:

E_Wm

T HANT
S D

4_%%

Question Number : 46 Question Id : 2062051310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following keys (if available) direetly involves low-level operating svstem functions with no possibility of
conflicting with any other existing sofltware?

Options:



1 % PrtScn
> % Break
5 SysRq

4 % Scroll lock

Question Number : 46 Question Id : 2062051310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
rmffEa d T O Fig @ F50 (3 Ty 8 T w9 F e wE A s seeew F
onfae & Swdr 3w Tl dtser wivcaar & oy sgear it & = gRTaer a6 82

Options:
1 % PriScn

- % Break
- v SYsRq

4 % Scroll lock

Question Number : 47 Question Id : 2062051311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Keyboard shortcut to invoke the delete dialog box to delete the selected cells in MS-Excel is:

Options:

i « CTRL +Minus (-)
> % CTRL ++

= 8 CTRE T

4 % CTRL+~

Question Number : 47 Question Id : 2062051311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
UHATH-UFEE H TUTHT Hew F e w6 & FEr F A g waree i s aiew w1 we i w1 2

Options:

1 « CTRL +Minus (-)



> % CTIRL ++
5 % CIRL+’

4 % CTRL+ ~

Question Number : 48 Question Id : 2062051312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which MS-Excel menu do we find the pivot table command?

Options:
1 # Tools

-~ % Data
= « Insert

4 % Window

Question Number : 48 Question Id : 2062051312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
THUE-TFES & fhd Al H g4 Hi9e 39 HAUS 9ed giar g7

Options:

1 #® &

2_333?:.’[

S.JE‘F‘q_‘S‘-

4.@1%”3;'3

Question Number : 49 Question Id : 2062051313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is meant by chart?

Options:
; = Representation of editable area

» % Representation of pictures stored on hard disk

s  Visual representation of numeric data



, = Representation of formatting styles of character data

Question Number : 49 Question Id : 2062051313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=T T AT 37T 872

Options:
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Question Number : 50 Question Id : 2062051314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
gives battery backup for a limited time.

Options:
1 « UPS

-~ w Adapter
2 ®& BIOS

4 % USB

Question Number : 50 Question Id : 2062051314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g 57T & o sl d379 9aa Fa1 g
Options:

Tdew (UPS)

M

, « Usel (ADAPTER)

. &I (BIOS)

=



Fuysr (USB)

4 %

Question Number : 51 Question Id : 2062051315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which feature is used to create mailing labels in MS Word?

Options:
, « Mail merge

» » Hyperlink
= # References

4 % Bookmark

Question Number : 51 Question Id : 2062051315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

THUE 92 F AferToeed a1 & for g frew o7 goeT Gar 3 &7
Options:

| v HELAS

Question Number : 52 Question Id : 2062051316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which shortcut key is used to insert a chart in a MS Excel cell?

Options:
1 Alt+F1
> B Cirl + F2

3 % Shifi +F2

g Alt+Fé6



Question Number : 52 Question Id : 2062051316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

THTH THFOE Uol H Teh A1C 3l SHC et o (o1 [hH ATCHE ol T TAIIT [ehdT AT 87

Options:

| @ Alt + F1
, % Ctl + F2
- = Shift + F2

. = Alt + F6

Section Id :
Section Number :
Section type:

Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Question Id : 2062051317 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Sub-Section Number:
Sub-Section | d:

Question Shuffling Allowed :

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension

EEADING COMPEEHEMNSION

206205201
2

Online
Mandatory
1

1

5

Yes

No

1
206205201
Yes



Read the passage given below and answer the questions that follow by
marking the most appropriate option out of the four given after each
question.

Way back in the seventh century, a ship full of refugees from Iran reached
the shores of South Gujarat. The Suryavanshi king of Sanjaan sent his men
with supplies to meet the visitors. He also sent a jug of milk. filled to the
brim. as a signal to the new arrivals. The king wanted to make it clear that
just as the jug was brimming over and could not hold anything more in it.
the land also could not have more people. Visitors were welcome. settlers
were not.

But the refugees were not that easy to shoo away. Their reply was in
symbols too. They added some sugar to the milk for the king’s men to take
back. Theirs was also a clear message: just as sugar dissolves in milk the
new arrivals would become a part of the people. The king accepted them,
and the Parsis have been a part of Indian life ever since.

The journey from Iran to Gujarat had not been easy. The ship almost went
down in terrible storm and only the fervent prayers of the homeless fribe
seemed to keep it going. The Parsis were Zoroastrians. worshippers of fire,
and promised Lord Zarathustra that they would set up a fire temple - Afash
Behram if they reached the shore safely. And when they did settle down in
Gujarat. they kept their promise. though it took several centuries.

According to the legend. dasfoors, the learned Parsi priests. brought fire
down from Nauma Aasman - the ninth sky. But before they could set up a
temple there were devastating wars. The Parsis bravely defended Sanjaan
from invaders. However, they had to move towards the east. shifting from
place to place. After 375 years a major branch of Parsis settled down in
Untwada where they constructed the fire temple.

Then the fire that was brought down from the ninth heaven to Sanjaan was
established in the fire temple, in 1742. Many centuries had passed by but
the fire from the seventh century has not lost its flame. The same fire lights
up the fire temple even today. 14 centuries after its arrival on the earth.

Sub questions

Question Number : 53 Question Id : 2062051318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The *visitors’ were:
Options:



, w Gujaratis.
> « Parsis.
= % British.

4 % lraqis.

Question Number : 54 Question Id : 2062051319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Why did the Suryavanshi king send a jug of milk,
full up to the brim, to the visitors?
Options:
, w» He was very hospitable.

- % He wanted to welcome the visitors.

To convey the message that the land could not take
5  bermanent settlers.

4 % There was plenty of milk available.

Question Number : 55 Question Id : 2062051320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which character trait applies best to the Parsis?
Options:

1 % Sensitive.

> « Polite and determined.
5 % Aggressive,

4 % Clever.

Question Number : 56 Question Id : 2062051321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Fire temple was constructed:
Options:

, % inthe 7th century.



> % inthe 18th century.

- % inthe 20th century.

4 375 years after the first arrival of Parsis.

Question Number : 57 Question Id : 2062051322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the significance of the title of the passage?
Options:

1 # Fire is sacred for Parsis.

-  Parsis are worshipers of the Fire god.

The sacred fire has been lighting the fire temple for
5 % centuries.

4 w -Atash Bahram — the Fire temple was established as early as 1742.

Question Id : 2062051317 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH
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Sub questions

Question Number : 53 Question Id : 2062051318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT i A2
Options:
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Question Number : 54 Question Id : 2062051319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 55 Question Id : 2062051320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 2062051321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 57 Question Id : 2062051322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
oI o fINF FT Fgca FAT 22

Options:
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CUANTITATIVE APTITUDE
Section Id : 206205202
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 206205202
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 2062051323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
One of the numbers in the following number series has been included wrongly. Find out the wrong number.

a7 4 B2 6] 8 112 142
Options:
1_.;,-"‘—']-?

> % 52
2 ® 67

I 87

Question Number : 58 Question Id : 2062051323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT @d T& 4@ # U W& 7ed &9 § A & AT §| 3 ITeId AT FH IAT T

3 47 B2 67 87 12 142
Options:

1« 47

Question Number : 59 Question Id : 2062051324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the value that should come in place of the question mark (7) to complete the following mimber series correctly:

495 483 405 223 343 7

Options:
1 ® 195

> % 165



Question Number : 59 Question Id : 2062051324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
¢ AT AT H FA g2 FEa (?) e W @A ¥ el wer & @@ @ ¥ qur #X
495 485 465 425 345 7

Options:

, % 195
., = 165
- v 185

4 % 175

Question Number : 60 Question Id : 2062051325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Solve the equation.

(Note: You are not expected to calculate the exact value.)
22.005% of 449.999 =7

Options:

1 ® 35

5> « 100

Question Number : 60 Question Id : 2062051325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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449.999 =T 22.005% = 7

Options:

> « 100



. % 125

g ® 75

Question Number : 61 Question Id : 2062051326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Solve the equation to find the missing value. (You are not expected to calculate the exact value)

441.01 —232.99 + 1649.99 =7+ [225.92
Options:
{ % 600

5 o« 630
s % 660

4 % 690

Question Number : 61 Question Id : 2062051326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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441.01 - 23299 + 164999 = 7 + 122552
Options:

, % 600
. v 630
- = 660

. % 690

Question Number : 62 Question Id : 2062051327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

There is 40 litres of pure milk in vessel A. and 22 litres of pure water in vessel B. 8 litres of milk from vessel A is
transferred into vessel B, Next, G litres of the mixture (milk and water) from vessel B is transferred into vessel A. Find
out the final ratio of the quantitv of pure milk in vessel A to the quantity of pure water in vessel BT
Options:

1 % 14:9

> o 21111



= % 24:13

4 % 14:5

Question Number : 62 Question Id : 2062051327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
% 14:9
ot B 1 1
s % 24 : 13
4% 14:5

Question Number : 63 Question Id : 2062051328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Iahesh has 600 kg of rice. He sells one part of it at 1 5% profit and the remaining guantity at 20%; loss. In the overall
transaction. he incurs a loss of 6%, What is the quantity of rice he sold at 20% loss?

Options:
, = 250kg

, % 320kg
. % 420kg

. » 360kg

Question Number : 63 Question Id : 2062051328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, » 250 Toeteme

> % 320 TheramH



5 % 420 TFrerams

4 v 360 TFeieme
GEMERAL MEMTAL ABILITY AND REEASONING
Section Id : 206205203
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 206205203
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 2062051329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Boat is related to sails in the same way as Balloon is related to

Options:
1 « Hot air

5 % Rope

s = Nylon

4 % Rubber

Question Number : 64 Question Id : 2062051329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 65 Question Id : 2062051330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way the second term is related to the first term.

Igloo : Ice ; : Marquee ; ?
Options:
1« Canvas

> % Silk
z % Buckram

4 % Satin

Question Number : 65 Question Id : 2062051330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 66 Question Id : 2062051331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the option that best describes the three following terms.
Pulpit : Pews : Steeple

Options:

, w They are connected with a glacier valley.

-  They are connected with church.



= # The terms are connected with race-course.

4 % They are parts of a plant.

Question Number : 66 Question Id : 2062051331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 67 Question Id : 2062051332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that best describes the three following terms.

Ovary : Uterus : Cervix

Options:
1 ® TIIE}' are excretory organs.

-  They are reproductive organs.
- % They are endocrine glands.

4 # They are organs for fertilisation in plants.

Question Number : 67 Question Id : 2062051332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 68 Question Id : 2062051333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way the second term is related to the first term.

49:81::100:7
Options:
1 ® B4

> v 144

s % 169

Question Number : 68 Question Id : 2062051333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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49 - 81 100 : 7
Options:

>« 144
-« 169

4% 121

Question Number : 69 Question Id : 2062051334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If ten people shake hands with each other only once, how many handshakes will there be altogether?

Options:



Question Number : 69 Question Id : 2062051334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 70 Question Id : 2062051335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
OTEC stands for:
Options:

, w Ocean Thermal Energy Conservation



- % Oil and Thermal Energy Conservation

- » Oiland Thermal Energy Convention

4  Ocean Thermal Energy Conversion

Question Number : 70 Question Id : 2062051335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 71 Question Id : 2062051336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find out the odd one.
Options:

1 % Nobel Prize

- » Magsaysay Award
= # Commonwealth Writers Prize

4 « Jnanpith Award

Question Number : 71 Question Id : 2062051336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 72 Question Id : 2062051337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The following have held the position of the Vice President of India:
1. V. V. Giri
2. M. Hidayatullah
3. B.D. Jatti
4. G. S. Pathak

Which of the following options represents the correct order of their tenures?

Options:
, w1 4,3.2
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Question Number : 72 Question Id : 2062051337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 2062051338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which event in the Asian Athletic Championships, 2013 Vikas Gowda won a gold medal?

Options:
| % Long Jump

5 % 400 mts. Running Race

= % Shot Put

4 « Discus Throw

Question Number : 73 Question Id : 2062051338 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 74 Question Id : 2062051339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Out of the following which area falls within the cold desert region of India.

Options:

, % Shillong Plateau

> % Dun Valley
= « Ladakh

4 % Baramulla

Question Number : 74 Question Id : 2062051339 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 75 Question Id : 2062051340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a banking related or financial term?

Options:
1 % Credit worthiness

> % Margin Money

5 % Payment gateway

4  Polymerisation

Question Number : 75 Question Id : 2062051340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 76 Question Id : 2062051341 Question Type: TYPING TEST Display Question Number : Yes
Wormens History Month is an annual declared month that is traditionally held in March, but the study of
woITens history is valuable all twelve months of the yvear. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Section Number : 1

Section type: Typing Test
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Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
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Question Number : 77 Question Id : 2062051342 Question Type: TYPING TEST Display Question Number : Yes

The Big Eang theory is an effort to explain what happened at the very beginning of cur universe. Discoveries
in astronomy and physics have showr beyond a reasonable doubt that our universe did in fact have a
beginning. Prior to that morment there was rnothing, during and after that moment there was something our
universe. The big bang theory is an effort to explain what happened during and after that moment. According
to the standard theory, our universe sprang into existence as singularity around 137 Dallion years ago.
Singularities are zones which defy cur current understanding of physics. They are thought to exist at the core
of black holes. Elack holes are areas of intense gravitational pressure. The pressure is thought to be so intense
that finite matter is actually squished into infinite density. These zones of infinite density are called
singularities. Cur universe is thought to have begun as an infinitesimally small, infinitely hot, and infinitely
dense. After its initial appearance, it apparently inflated, expanded and cooled, going from very, very small
and very, very hot, to the size and temperature of our current universe. It continues to expand and cool to this
day and we are inside of it incredible creatures living on a unique planet, circling a beautiful star clusterad
together with several hundred billion other stars in a galaxy soaring through the cosmos, all of which is inside
of an expanding universe that began as an infinitesirmal singularity which appeared out of nowhere for
reasons unknown. This is the Big Bang theory, There are many rmisconceptions surrounding the Big Bang
theory. A5 in, we tend to imagine a giant explosion. Experts howewver say that there was no explosion, there was
arl exparsion which continues even today. Rather than imagining a balloon popping and releasing its
Contents, imagine a balloon expanding: an infinitesimally small balloon expanding to the size of our current
universe. Ariother misconception is that we tend to image the singularity as a little fireball appearing
somewhere in space. According to the many experts however, space did not exist prior to the Big Bang. Back in
the late 60s and early 70s, when men first walked upon the moon, three BEritish astrophysicists, Steven
Hawlking, George Ellis, and Roger Penrose turned their attention to the Theory of Relativity and its implications
regarding our notions of time. In 1968 and 1970, they published papers in which they extended Einsteins
Theory of General Eelativity to include measurements of time and space. According to their calculations, time
and space had a finite beginning that corresponded to the origin of matter and energy. The singularity did not
appear in space; rather, space began inside of the singularity. Prior to the singularity, nothing existed.
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